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Choose the correct answer of the following :
(@ TRE TR FRe g [ fReT [/
fqg® / 9o 7= |
\ In gymnosperms, the endosperm is
haploid / diploid / triploid / None of
these.

(b) T I8 IRy TRRS @ / w19 / A© /
9b1S w2 |

Phylloclade is a modification of root /
stem / leaf / None of these.
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() SORST TH Rfe aEafmE 2R | (o e WA
R R | ey / 155 | g ; MGU (Male Germ Unit)
oRA | ' | (d) AR G o
’_I‘he most highly evolved type of ’ Structure of anther wall
mﬂc.)rescence is hypanthodium / spadix / |
capitulum / polychasial cyme. ‘ (e) - TemCa
(@) <= T o A . Self-incompatibility
T T RN e e / | () e o
PSSR &l / TS / SPRE] R T I ‘ Parthenocarpy
Maturation of stamens and pistils at :
diffi i i i |
erent times in ‘the same flower IS | 3. Sara 55 AT e 97 | Ry S St
called dichogamy / heterostyly / | o ; & e
dichotomy / heterospory. 5 SICRINNSIGIRET Y -
(e) Taficass S eATE o o RERT : Discuss the process of fossilization. Why are
T / E(ﬁﬁ;; i ) ‘ﬂn'/ = o | the fossil genera called as ‘form genera’?
ThP: process of double fertilization (triple | G391/ Or
glsmn] was discovered by Nawaschin / & & @fFEe Aty 9uf& o s feoe?
trasburger / Leeuwenhoek / ‘ o
Hofmeister. i | PR fOePTR ST 41 ha9s
In what aspect, Gnetum is more closer to
2. vy G B (R RBM) - e angiosperm? Discuss with suitable diagrams.

Write short notes on (any foun :

4. TARTP 0 TRIPR RR¥w oeRe wFRS

(@) ORI FIeRe B | ARTPPRE ST 4 | 10+3=13
Coralloid root of Cycas
) What is an inflorescence? Give an account of
(b) T I ' various Racemose inflorescence with
Function of trichomes example.
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§{T/ Or
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. Write explanatory notes on the following :
(@) S_1 RHPR eeR
Types of placentation
(b) SRS

Apomixis

S. WWW‘T’T“WEWWWWW

(TR I 91 | ooy Ry 2oq ~papargaisl 5=
QRS 3F% frg 9 10+3=13

Describe the different contrivances Or

mechanisms to perform cross-pollination.’
Why does nature prefer cross-pollination?

[T/ Or

A-THAR Rer et B o2 vosee o
Rer afem SoRe Smzaepm T 900 s
AT fBa S 41 | 2+8+3=13

What do you mean by megasporogenesis?

Describe the development of tetrasporic type

of embryo sacs with suitable examples. Draw
diagram wherever necessary.
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